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1m = 0.001 km
2356 m = 2.356 km
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> kg

[> HE ! 18.63kg

Auke] A oF  11.98 + 13.79 = 25.77(kg)
MER2 7EAL Ik &F 1 25.77 — 7.14 = 18.63( kg)
11.98 4+ 13.79 — 7.14 = 18.63( kg)
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B ~
14g — 0.7cm

425 147F370Q0 5+ (14 +14+14=42)
42g—-0.740.74+0.7=2.1

|449] 7ol 1 8421 =10.1(cm)




17. 7} EAoA Y EA7HAE 11.751 km o] 2, L} EA]ol| A T TA 714
= 14.781km JU T} 7} Ao A 2F =A7EA] 9] A 2|7} 38.974 km
2 oF A A 2t ZAZER] o] A= 2 kmQIA] FEHA L.

» = km

> ®EHD 12.442km

~&B

. 38.974km- __
b7 v o E
1f_‘751kiﬁhi4_7811£n:‘|:|"

(chlAl 2Rl 9] Ae))

_ (1A Ael)- (7l e 2] Ael)
= 38.974 — (11.751 + 14.781)

= 12.442(km)




o] M= ghutz| gtotof

A

]

h

Y},

H

T

5}

e

A

olJ
vl
NI
oA

£l

2 of

£ 2 do] WA o] Fi Zo] 4

5




il p

cm
o]
=

12 cm

=
L.q8em - &

1

|

24 cm

HALL.
i
T’E]T
T

©
=

T

Z}

Al
=]

B 2717 22

o

=

18 4+ 6 = 24( cm)

s

—

couid A2y can
o]

19.
735
>
>



20. =9 HAY % A vollM 22 5 e iAo 5 5k, o8

s

st o 2 Sty 9] tiztd el A A= FohA L

-
T =]
- ||
=
> E Kl
> E il
> ®e A
> ®E: 97

oA colA T AR 4L D L =g ANY 7, 0
o 373] 2. % &Y
wheba] 2R thzte] At 6x 3 + 2 = 9(7H) U




